	Management of Value Creating Processes
	University of Debrecen
Faculty of Economics and Business Administration
Department of Management and Marketing
	C

	Mid-term paper (……/……./…….)
	
	


Name: ……………………………………………………..   
BA in MBA / Erasmus
Do not forget to fill the Answer Sheet on the last page! Time limit: 60 minutes.
Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	Pair the following statement with one of HIPI items below: “Variability in the quality of service because services are provided by people, and people perform inconsistently.”
a) Heterogeneity

b) Intangibility

c) Perishability

d) Inseparability 

	2. 
	Which GAP model item is the pair of the following statement: “The difference between managements perceptions of guest’s expectations and service quality specifications.”

a) Knowledge gap

b) Standards gap

c) Delivery gap

d) Communication gap

	3. 
	What is true about customer (or consumer) value? 

a.) It is always objective.

b.) Valuation of consumption goods is more objective, than the valuation of investment goods.

c.) It does not depend on geographical availability. 

d.) It can change in time.

	4. 
	Which GAP model item is the pair of the following statement: “The difference between service delivery and the communications to the guests about service delivery.”

a) Knowledge gap

b) Standards gap

c) Delivery gap

d) Communication gap

	5. 
	What is NOT belongs to the 3 interrelated component of a value creating strategy?
a) business concept

b) organization concept

c) core processes 

d) mission statement

	6. 
	In which item’s case (from the following) is the customer valuation the most objective?
a) An automobile

b) A novel (a book)

c) A sport jacket

d) Chips

	7. 
	What is the definition of the value creating process?
a) It is a way of thinking, that focuses on the costumer.
b) It is a chain of activities, that transforms the resources (and competencies) of the firm into consumer (customer) value.

c) Beliefs that are shared among the stakeholders of an organization. Values drive an organization's culture and priorities. 

d) Eliminating anything that which causes cost but does not contribute to the value or function of the product or service. 

	8. 
	One of the following characteristics of core competencies is wrong. Which one?
a) It contributes significantly to the value of the end-products.
b) It is easy to imitate.
c) It can be leveraged to many of the firm’s products and markets. 

d) It provides the fundamental basis for the provision of added value.


	9. 
	The …….. is a mathematical expression of the goal.

a.) constraint
b.) decision variable

c.) parameter

d.) objective function

	10. 
	A decision variable:
a.) a mathematical expression of the goal

b.) choices available in terms of amounts (quantities)

c.) limitations restricting the available alternatives; define the set of feasible combinations of decision variables (feasible solutions space)
d.) fixed values in the model

	11. 
	Calculate utilization, if designed capacity is 10, while actual output is 4. Utilization is: 

	
	a.) 40
	b.) 6
	c.) -6
	d.) 0,4

	12. 
	The ……… is the resource that limits the production when other resources would allow greater quantities.
a.) Bottle-neck

b.) Scarce resource

c.) Coefficient resource
d.) Market maximum

	13. 
	If both factories producing the same product, then usually (the) …. factory has the …. optimal operating rate.
a.) both, same

b.) larger, smaller

c.) smaller, larger

d.) larger, larger

	14. 
	In case of services, the capacity should be locates near to the…
a.) customers 

b.) competitors
c.) suppliers
d.) trade routes

	15. 
	Pair the following statement with one of Garvin’s approaches on quality below?: “Quality cannot be defined precisely, we learn to recognize it only through experience.“
a) Transcendent approach

b) Product-Based approach

c) Manufacturing approach

d) Value based approach


Calculation exercises
Exercise 2
What are the optimal production rates (produced quantities) of P1, P2, P3 and P4 products according to the data shown in the matrix below, if we want to maximize the Profits ( = Total Contribution Margin)?
	
	P1
	P2
	P3
	P4
	b (hrs/y)

	R1
	2
	0
	0
	0
	600

	R2
	3
	0
	0
	0
	600

	R3
	0
	2
	2
	0
	3000

	R4
	0
	0
	0
	2
	1000

	MIN (pcs/y)
	40
	10
	50
	50
	

	MAX (pcs/y)
	2000
	3000
	1200
	500
	

	p (HUF/pcs)
	150
	30
	40
	40
	

	cm (HUF/pcs) 
	20
	25
	20
	-20
	


Exercise 3
There is a small company with 3 employees, each working 160 hours in a month (hourly wage is €10), machines that have a monthly cost of €1000 and overhead costs of €200 per month. This company produces 1000 pieces of homogenous goods with a market price of €5 per piece. What are the labour, the machine and the multifactor productivities?
Exercise 4

Calculate the following for a year: the Designed Capacity with given work schedule, the Effective Capacity and the realistic quantity of Resource in working minutes we now following data.

Number of working days: 250; there are 1 shifts (8 hours each) in a working day; 1 homogenous machines. In every month (12), there is a maintenance time of 10 hours for every machine and the performance percentage is 85%.
Answer Sheet

Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	
	5
	
	9
	
	13
	

	2
	
	6
	
	10
	
	14
	

	3
	
	7
	
	11
	
	15
	

	4
	
	8
	
	12
	


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	P1 (units/y):
	

	P2 (units/y):
	


	P3 (units/y):
	

	P4 (units/y):
	


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	

	Machine productivity:
	

	Multifactor productivity:
	


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	mins/yr

	Effective Capacity:
	mins/yr

	Resource:
	mins/yr


Answer Sheet
Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
	1
	A
	5
	D
	9
	D
	13
	D

	2
	B
	6
	A
	10
	B
	14
	A

	3
	D
	7
	B
	11
	D
	15
	A

	4
	D
	8
	B
	12
	A


Example 2 (maximum points: 2*3=6)
Points: ……../ 6

	P1 (units/y):
	200

	P2 (units/y):
	1450


	P3 (units/y):
	50

	P4 (units/y):
	50


Example 3 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Labour productivity:      
	1,04

	Machine productivity:
	5

	Multifactor productivity:
	0,83


Example 4 (maximum points: 3*1.5=4.5)
Points: ……../ 4,5
	Designed  Capacity:      
	120000 mins/yr

	Effective Capacity:
	112800 mins/yr

	Resource:
	95880 mins/yr


